Discrete brown-out solution for
the UCC28180
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Brown out function of UCC28019A
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There is brown out function inside UCC28019A.
UCC28180 does not have brown out function.
So discrete brown-out solution is needed for UCC28180.
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Discrete brown-out function for the UCC28180

Typiﬁ?cl Application Schematic To apply brown out function with
S Mt > S UCC28180, a external circuit with
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Calculation of discrete brown-out circuit

LM8364 is used for under voltage sensing circuits. Below is functional
block diagram and timing waveforms of LM8364.
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In this calculation, LM8364BALMF30 is selected.
Vper.=3V, Vper,.=3.15V.
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Calculation of discrete brown-out circuit

Typical Application Schematic
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Suppose, R2=806kohm.
And the brown out threshold of Vac is 80Vac

X80x1.414=3
R1+R2

Then, R1=29.5Mohm

R3 is pull high resistor of /RESET pin.
R3=1.15Mohm

C1=47pF

With above components value, the brown in
threshold is 84V.

Below is BOM for discrete brown-out circuit

U1 LM8364BALMF30
R1 29.5Mohm

R2 806kohm

R3 1.15Mohm

C1 47pF
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